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. Find the ratio between 4 months and 3 years 5 months

(i) 3:41 (ii) 4:44 (iii) 4:41 (iv) 4:38

2 4
. Divide 390 in the ratioE : :9,

(i) 90,302 (ii) 91,300 (iii)) 90,297 (iv) 89,300 (v) 90, 300

Ul o
NN
U=

(i) 6930,1097,770 (ii) 6930, 1102, 770 (iii) 6929, 1100, 770 (iv) 6930, 1100, 770

(v) 6931, 1100, 770
. A man reduces his weight in the ratio 16 : 14. What is his weight now, if originally he was 99 kg ?
(i 693 Kq (i) 701 ka (il 347 kg (iv) 709 kg (V) 695 K
i) — i) —— i) —— iv) —— V) ——
8 g 8 g 4 g 8 g 8 9
. Which of the following is true?

(i) 5:4>6:1 (ii) 7:2<9:8 (iii) 8:1>9:7 (iv) 7:2<8:3 (v) 7:6>4:3

. A certain amount has been divided into two parts in the ratio 7 : 6. If the first part is 196, find the total amount.

(i) 366 (ii) 365 (iii)) 362 (iv) 364 (v) 363

. Two numbers are in the ratio 5 : 2 and their difference is 72. Find the numbers.

(i) 119,48 (ii) 121,48 (iii) 120,50 (iv) 120,48 (v) 120,45

3
DivideX52200into three partssuch that the first one is 1 of the secondand ratio between second and the third is
5:9
(i) X27000.00:X9000.00:X9000.00 (ii) X27000.00:X9000.00:X16200.00

(iii) ¥16200.00:X27000.00:39000.00 (iv) X27000.00:X16200.00:X9000.00

(v) X9000.00:X16200.00:X27000.00

. Increase833in the ratiol7 : 19

(i) 929 (ii) 931 (iii) 934 (iv) 932 (v) 930

8 6
10 DivideX49200among A,B,C so thatA shall receive 3 of what B and C together recieveand B may receive 3

of what A and C receive

(i) X9600.00:X32400.00:X7200.00 (ii) X9600.00:X7200.00:X32400.00 (iii) ¥9600.00:X7200.00:X7200.00

(iv) ¥32400.00:39600.00:X7200.00 (v) X7200.00:X32400.00:39600.00
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A bag contains 1410 in the form of five-rupee, two-rupee and one-rupee coins in the ratio 9 : 18 : 13. Find the

number of coins of each type

(i) 133,275,195

1
The sides of a triangle are in the ratio

(ii)

137,265,195 (iii)

.1.
763

Find the lengths of the sides of the triangle

(i) 90cm:105cm:210cm

(v) 95cm:105cm:205cm

Find the ratio between 3 months and 7 years

(i) 1:28 (ii) 1:30 (iii) 1:25

(iv) 0:28

Find the ratio between 21 min and 45 hr

(i) 6:900

(if) 7:900

(iii) 7:902

136,275,190 (iv) 135,270,195

(ii) 95cm:100cm:210cm

(iv) 7:898

Find the ratio between 10 m and 7 km

(i) 1:698

(ii) 0:700

(iii) 1:702 (iv) 1:700

Find the ratio between 9 gm and 7 kg

(i) 9:6998

(ii) 9:7000

Find the ratio between 3 | and 6 ki

(i) 1:2000

(ii) 1:1997

(iii) 8:7000

(iii) 0:2000

Find the ratio between 19 hr and 3 days

(i) 19:74

3
The ratio equivalent of the fraction 3

(i) 2:7

95
The ratio equivalent of the fraction -94

(i)

(i) 95:92

(i) 19:69

3:7

(ii) 95

(iii)

194

(iv)

(iv)

9:7003

1:2002

(ii)) 18:72 (iv) 19:72

3:10 (iv)

7:3

(v)

3:4

and its perimeter is405 cm.

(iii) 85cm:105cm:215cm

(iii) 94:95 (iv) 95:96 (v) 94:94

The fraction equivalent of the ratio4:3 =

(i)

(i)

2 (iii)

(iv) 4

(v)

4

The fraction equivalent of the ratio57:54 =

(i)

57
52

(i)

(iii)

(iv)

54

57

The antecendent in the ratiol11:7 =

(i)

10

(i)

7 (iii)

13

(iv) 4

(v)

(v)

11

59
54

(v) 134,270, 200

(iv) 85cm:110cm:210cm
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The antecendent in the ratio : =
15 20

(i) : (i) > (iii) Y (iv) ! (v)
) oo () (i) oo (v) o (v

The consequent in the ratio7:19 =

(i) 5 (ii) 18 (iii) 19 (iv) 7 (v) 21

) .9 17
The consequent in the ratio — : =
19 19
(i) 1 (ii) ! (iii) L (iv) 2
i i iii iv
19 19 19

The simplest form 0f49:98 =

(i) 1:2 (ii) 0:2 (iii) 1:-1 (iv) 49:101 (v) 2:2

Ifa:b=4:17andb:c=1:13,thena:b:c=

(i) 4:20:221 (i) 3:17:221 (iii) 4:17:221 (iv) 5:17:221 (v) 4:15:221

Ifa:b=4:15andb:c=9:25,thena:b:c=
(i) 37:135:375 (ii) 36:132:375 (iii) 36:138:375 (iv) 35:135:375 (v) 36:135:375

16 1
Ifa:b=—:—andb:c=-—:— ,thena:b:c=
20 12 10 19
16 1 4 16 1 4 16 1 4 ) 16 -1 4 16 1 4
(i) = (i) —: : (iii) o (iv) ( )i (v) —: :
25 5 57 23 15 57 25 15 57 25 15 57 27 15 57
6 10 15 11
Ifa:b= : andb:c=—": ,<thena:b:c=
11 23 25 27
.18 6 110 . 18 4 110 .. 6 6 110 . 18 8 110 18 6 110
(i) T— (i) — = (iii) ——: 1 (iv) T—- (v) —:—:
55 23 621 55 23 621 19 23 621 55 23 621 53 23 621
Divide 423 inthe ratio 3 : 6

(i) 142,282 (ii) 141,279 (iii) 140,282 (iv) 141,282 (v) 141, 284

Divide 8176 in the ratio 36 : 37
(i) 4033, 4144 (ii) 4032 ,4141 (iii) 4032, 4144 (iv) 4031, 4144 (v) 4032, 4146

Divide 720 in the ratio5: 4 : 15
(iy 150,117, 450 (ii) 150, 123,450 (iii) 150,120, 450 (iv) 149,120,450 (v) 151,120, 450

Divide 32829 in the ratio 33 : 40 : 20
(i) 11649, 14117, 7060 (ii)) 11650, 14120, 7060 (iii) 11648, 14120, 7060 (iv) 11649, 14122, 7060

(v) 11649, 14120, 7060

A ratio is equal to 11 : 15. If its antecendent is 693, what is its consequent?

(i) 946 (ii) 944 (iii) 945 (iv) 943 (v) 948



37. Aratiois equal to 12 : 25. If its consequent is 700, what is its antecendent?

(i) 337 (ii) 336 (iii) 338 (iv) 335 (v) 333

38. Aratio is equal to 35 : 1. If its antecendent is 12600, what is its consequent?

(i) 358 (ii) 362 (iii) 361 (iv) 360 (v) 359

39. Aratio is equal to 18 : 55. If its consequent is 1155, what is its antecendent?

(i) 379 (ii) 381 (iii) 375 (iv) 378 (v) 377
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